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Diagram NOT
accurately drawn

2x x+30

The diagram shows a triangle.
The sizes of the angles, in degrees, are

3x

2x
x+30

‘Work out the value of x.

x=

(Total 3 marks)
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13. 2<n<4
nis an integer.

(2) Write down all the possible values of n.

(b) Solve the inequality ~ 6x-3<9

(Total 4 marks)
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16. v?=u? + 2as

6
25
9

PRI

(2) Work out  value of v.

(b) Make s the subject of the formula ¥ =12+ 2as

@
(Total 5 marks)
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15. (a) Express 84 as a product of its prime factors.

(b) Find the Highest Common Factor (HICF) of 84 and 35

(Total 5 marks)
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1.

(2) Simplify

®) Simplify

(¢) Simplify

(d Simplify

5Sbe + 2bc — 4be

4x+3y-2x+2y

mxmxm

3nx2p

)
(Total 5 marks)
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4. The diagram represents a solid made from $ identical cubes.

™~

A

On the grid below, draw the view of the solid from direction 4.

(Total 2 marks)
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5. Work out g+1
57

(Total 2 marks)
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(2) Reflect shape A in the y axis.
@

(b) Describe fully the single transformation which takes shape A to shape B.

(Total 5 marks)
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10. Sidra and Gemma share £48 in the ratio 5:3

Work out how much more money Sidra gets than Gemma gets.

(Total 3 marks)




